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Tekst 5 
 

1p 11 ‘Sottes created waves when it launched its waste-free collection’ 
(paragraph 1) 
How does Sottes produce a waste-free collection, according to 
paragraph 2? 
A by developing fabrics made from organic litter and plastic 
B by making new clothes from materials that have been thrown away 
C by selecting local materials instead of textiles produced abroad 
D by using fair trade methods throughout the whole production process 
 

1p 12 ‘both men and women of all body shapes can wear our creations’ 
(alinea 3) 
 In welke andere zin eerder in de tekst wordt hetzelfde gezegd? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin. 
 

2p 13 De volgende personen komen aan het woord in deze tekst: 
1 Adeline Huang (alinea 4) 
2 Raye Padit (alinea 5) 
3 Agatha Lee (alinea 6) 
 Geef voor elke persoon aan welke uitspraak het beste past bij zijn of 

haar verhaal. 
Noteer de letter van de uitspraak achter de persoon in de uitwerkbijlage.  
 
Let op: er blijven twee uitspraken over. 
a Classic but trendy 
b Hand in and replace 
c Help by restyling 
d Luxurious green 
e New life for waste material 
 

1p 14 ‘It’s the wearer who gives life to the clothes’ (alinea 7) 
 In welke eerdere alinea is al eens gesteld dat de drager van de 

kleding belangrijker is dan het kledingstuk zelf? 
Noteer het nummer van deze alinea. 
 
 

Tekst 6 
 

1p 15 What becomes clear about Anne McLellan in paragraph 1? 
A She has started to change the justice system. 
B She supports the ideas of the Reform party. 
C She thinks youth crime is not a serious problem. 
D She wants to lock up a large number of youngsters. 
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1p 16 ‘“Putting kids in jail, though sometimes necessary, is not an effective 
response to youth crime”’ (alinea 2) 
In welke alinea wordt aangegeven op welke manier Anne McLellan 
jeugdcriminaliteit wil aanpakken? 
A alinea 3 
B alinea 4 
C alinea 5 
D alinea 6 
 

1p 17 ‘youth get caught in a cycle of crime because they know there are no 
serious repercussions’ (paragraph 2) 
How does paragraph 3 relate to this statement? 
A It adds new information to it. 
B It completely disproves it. 
C It partly supports it. 
 

1p 18 Which of the following quotes is in line with the statement of the Canadian 
Criminal Justice Association (paragraph 4)? 
A ‘when serious things happen, there need to be meaningful 

consequences’ (paragraph 2) 
B ‘I probably still would have done it since I wasn’t thinking about the 

punishment anyway.’ (paragraph 5) 
C ‘Needless to say, this new legislation will not please everyone.’ 

(paragraph 6) 
 

1p 19 Kies bij    19    in alinea 6 het juiste antwoord uit de gegeven 
mogelijkheden. 
A a logical response to an unexpected situation 
B a modern approach to an ancient dilemma 
C an appropriate solution for minor issues 
D a simplistic answer to a complex problem 
 
 

Tekst 7 
 

1p 20 Kies bij    20    in alinea 1 het juiste antwoord uit de gegeven 
mogelijkheden. 
A interesting 
B local 
C medical 
D wealthy 
 


